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«PEpnhpdiwlwl nnu»®pre
SloptU’ W Uwpnubyub
(54
Nunbpunmt® «PEMHP PATLULUTL YELSPNL» PP
(puw pnigtnuyht dwipiubinh glipuntiuguljub nuuwupgiwi)
Opwghpp
Whjwilndp® 2024p. qunudtph ujpui
Bwdhh - funidp - quu - dpwghp -
(nuw pmgnuyht dwihiutiph. gnpdwninuljub y wuwljupgiwh)
Qofwh wowpluh
Qs
Showig, dwdluig. Qbiwh| Quuph | Uhunph Luwluly (}:;qung
pun QUT wlwhnidp dup | dhujnpp ahtp t npunt)
nuuwjupgiub
P jwlwl ywpwqulbp
33141110 dhpwlwuy 7dx14ud /phtuw/ < |hun 120 5400  |648
33141110 Yhpwlwyy 5dx10ud /phtiwn/ < |hwun 57 2200  [125,4
33141110 Uhpwlwy 5dx10ud dwupbwqbpd /phuw/ < |hwn 80 90 7,2
33141110 Shuuwluwiwy thnpp 3dx10ud EUS  |hwn 195 700 136,5
33141110 q-thuu_‘[{Lqu UGS 3ux20ud EUB  |hwwn 340 1500 510
33141110 Phuw Fjuuwnhly 3ux12ud < |huwn 3240 170 550,8
33141112 Uwbnwuh Yinnphg 5udx5d A< |hun 340 370 125,8
33141112 Uwtinwh Yunphg 1.25udx54 9<  |hwan 100 160 16
33141112 Uwbinwuh Yuinphg 2, 5udx54 EUS  [hwin 220 190 41,8
33141112 Uybnwh pnpjw 2.5udx54 EUS  |hwn 105 240 25,2
33141112 Jywbnwth Yynulw 2.5udx5a A< |hun 120 o
33141112 Uwbinuih 194dx7244d G<  |hun 4,2 10000 |42 -
331412 Juwbnuiih untiwywénid A< |hun 200 o
33141114 fdwughy 54 /28-2g/d (Jwipyw) <L |ubwp 120 4800  |576
33141114 fwiighy Jwlipkuigtng 10udx10ud (8 okpun) UU  |hwin 1875 50 93,75
33141115 Pdolulwl pudpuwly EUBS  [hwwn 108 400 43,2
SNMUWRNIGWYWU 8GN WRNGUYtRG 270 77500-90uT SWyAT WG = Z5ut-
ki il < |huin 360 120|432
. dhpwpnidwlwl phikp wnhgunhu/dhGnhy Gud hwdwpdbp 2/0 /75ud-90ud
Yupnn wubin - 250d-304d < |hwn 360 24 8,64
Yhpwpnidwlwl pEER wnihqwfwht 3/077500-90ud swlnn, wubin - 22d4-
LY R | f360  Joa [sea
BN | ppuwpnichults phibp wnipaglimpb 3/0 7500-90u8 Yunpnn wutin - 2504 G, fham 24 o
dhpwpnidwlwl REED wn(hquynht 370 77500-90ud Ywupnn wubn - 3500-
S o EUS |huin 22 o
dhpwpnidwlul REER WnhguaGupa T 77500-904d Sdwlnn wukn - 400d-
Ly 9 fhun  fse0  fs0  |ous
Jhpwpnidwlul pEER ynhquGupt 2 77500-90ud dwlnn wubn - 4000-
b N TR0 9 |hwn  f30 |10 a3z
33141121 :
hpwpnidwlwl phitp wnihgulnht 90Uy dwynn wukn - 40ud (5 METRIC) AL |hwn 480 240 115,2
384121 | dppwipniduilul plytn wnihguulnht 90ud Swlynn wubin - 4044 (4 METRIC) 8¢ i 480 120 [s76
Ihpwpnicwqul pGIGEn Wn[hGuymhG7JhgRRL Gud hwawpdtp/90ud swgnn
S8HI2T | b - 3504 (3 METRIC) - 82 numn 480 120 |s76
33141121 i
hpwpnidwlwu phibp wnihgqjuynht 90ud Yuipnn wubn - 4044 (3.5 METRIC) AL |hun 480 96 46,08
33141121 dhpwpnidwluwl plitin wnihgiulnht 70ud 4/0 swlnn wubn 1700 < |hun 432 396 171,072
33141121 Uhpwpnidwlwl phitp wnihquulnhu 75ud 4/0 Swlnn wubin 2244 G<  |hwin 432 24 10,368
dhpwpnidwwl BEER wnhwypnwh(EU 270 7500-90ud dwlnn wubn - 200d0-
Sl = e 9 fhun  f210 las |i008
Yhpwpnidwluwl pEER wnihwypnwhEU 2/0 75u0-90ud Yuipnn wubn - 2000-
el B 9 | 210 |08 |ooes
Thpwpnidwlul pEER wnihwypnwh&G 370 75-90ud Swnn wubn = 2Z00-
B EUS hun 84 o
Ihpwpnidwlwl pEER wnhwypnuhEs 370 75-90u0 Ywnnn wubn - 2200-
LN | f210  Jsa |i7ea
33141121 dhpwpnidwlwl phitp unmwpnwﬁthb 4/0 75-90ud Swlnn wukn EUBS  [hwun 72 0
33141121 dhpwpnidwlwl phibp wnihupnwhibu 4/0 75-90ud Yunpnn wubin R 210 36 7,56
33141121 dhpwpnidwlwl phibp wnihypnwhibu 5/0 75-90ud Swlnn wubin <L |hun 210 48 10,08
33141121 Yhpwpnidwlwl phikp wnihwpnuhibt 5/0 75-90ud Yunpnn wubin A< |hwn 210 36 7,56
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33141121

dhpwpnidwlwu phitp wnihtupbp subpddynn Enhynun 5 7Metric 75ud wutin - 5504 EUA  [hwin 24 0
33141201 Puwfuh PE Q< |hwn 9 10000 (90
33141120 Mnpwnh ubndhs (Wnpnwlwuy) EUS  |hwan 150 0
33141100 Upunwsddwu dwipwly b funnnduly Q< |hwin 950 450 427,5
33141131 MHawnhub ubndwly ( dgnun) EUS  |hwin 2 0
33141136 |Gwinbnbp  bpwlughu G 18 G<  |hun 55 900 49,5
33141136 |Guunbinbp  Bpuwlught G -20 < |hun 55 1350 |74,25
33141136 |ywinbinbp  bpwlwihu G 22 3¢ |hun 55 1600 |88
33141136 |Guwintinbp  bpwlugh G 24 3 |hun 55 5000 [275
33141136 |Guunbunbp  Bpulwiht G -26 EUS  [hwin 55 50 2,75
33141136 |Ywntunp bpuiluspt ehibntihl 6 - 23 e e B L
33141136 |Guinbinp bpwljwjht phpbnubly G - 24 3<  [hwin 25 950  [23,75
33141136 Ywwnbnbp dhquiht 2-6jninwth G - 16 a<  |hun 230 270 62,1
33141136 |Guwunbinbp dhquihti 2-6jninwitih G - 14 G<  [huwn 230 40 9,2
33141136 Ywuinbinbp dhquiht 2-6jninwuh G - 18 9< _ |huwn 230 310 713
33141136 |Guwinbinbp dhquihti 2-6jninwith G - 20 < |hun 230 10 23
33141136 Ywwnbinbp dhquiht 2-6jninwuh G - 22 3L |hwn 270 10 2,7
33141136 |Gwinbnbp dhquipt 2-6jninuith G - 24 G<  |hunn 270 10 27
33141136 |Guunbintip dhquipti 2-6jniqwith G - 8 EUS  [hwin 230 950  [2185
33141136 |Guwinbinbp npsh wpnwdsdwy 8Fr EUS  |hwu 49 20 0,98
33141136 Ywwbwnbp (npéh wpnwdSJwu 10Fr EUB  [hwn 49 430 21,07
33141136 Ywwinbwnbp npdh wpnwdsdwu 12Fr EUS  Jhwn 49 330 16,17
33141136 |Guwunbinbp npdh wpinwdStwl 14Fr EUS  |hwin 49 50 2,45
33141136 Ywwnbnbp npdh wpnwdddwu 16Fr EUS  [hwin 49 100 49
33141136 |Guunbinbin npdh wpinwdstwL 18Fr EUS  [hwin 49 200 |98
33141136 |Gwinbunbp Yhlunpntiwluit bpwljuhts 9Fr EUS [hun 13000 |5 65
33141136 |Guwinbunbp Yuinpnuwluw bpulugt 7Fr < |hun 6400 |5 32
L T " < Jhun 35000 |5 175
33141154 Mhugtn, Ynwgnyughnt, dhoht swihh < |hwin 25000 10 250
33141183 | pntin unwdnpuwti GH- 16 < |hun 140 125 [175
33141183 2nun unwdnpuwih  GH- 8 EUS  [hwun 140 60 84
33141183 2nun unwdnpuwiht  GH- 6 EUS  |hwun 140 60 84
33141183 2nun unwdnpuuhtt GH- 18 3£ |hwn 140 170 23,8
33141178 “Yanbiph Ubpwpldwu hwdwlunpgbp A< |hwn 42 30000 |1260
33141182 Pdolulw npbuwd pnph Netd < |hwn 5
33141182 | pghuwlyw npblwd pnph Ne20 < |hwin 5
33141182 Pdowlwt npkuwd pnph Ne22 < |hwn 5
33141182 |pglwlwit npbliwd pnph N224 < |hwn 5
33141182 Pdpljulut npbuwd pnph dwulwlwt YL |huwn 5
33191520 |upyuit ihnfubibpuintdut hwiwlwng $hipng 9C fhwn 105 |s0  |s4s
M il bk gie Al 9,3 24000 [2232
33141142 Ubpuplhs  wubnny 34 3<_ |hwn 9,3 15600  |145,08
33141142 Ubpuipbhs  wubnnd 54, Q< [hun 9,5 28000 (266
Sl Lbipuplhs  wubinnd 104 < |hun 15 18000 |270
33141142 Ubpwiplhs  wubnng 200, A< [hwn 25 19000 475
33141142 Ubipwplhs  wubinny 1] /huunyhtip/ 306 < [hwn 14 11000 |154
33141142 Lbpwplhs  wubnny 1d) /uinndwwnning./ 30G 3L |hwn 29 1000 |29
33141142 Lbpuwplhs  wubnny 14} /nniptipynywiht/ 25G 5/8 EUB  |hwa 12,5 300 3,75
33141142 dwikh Ubpwplhs 604 EUS  |hwan 100 35 35
33141145 |yubin nnunintinwjht ninnnpnhsny 90 dd / Uhtinluity/ G - 25/ PENCIL < |huwn 180 200 |36
33141145 |yubn nquninbinuihlty ninqnprhsny 1200/ Uwghlinkjuit/ G - 25/ PENCIL EUS |huwn 400 100 |40
33141157 Lownwph uwp 1 A |hun 44 300 1352
33141157 o uwigp 15 A< |hwin 44 200 88
33141157 |\ punwph uwyp 20 A< [hwin 44 500 2
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33141157

Lownwph uwyp 21 L |hwn 44 400 17,6
33141158 dbnungubin Yhpwpnidwlwl dwlpkwgbpg swihup 6 G Janye 90 200 18
33141158 Abinungubin Yhpwpnidwlwl dwupkwgtipd swthup 6,5 9L Janyg 90 650 58,5
33141158 dtinunglltin dhpwpnidwlwl Jwuptwgbing swihup 7 ¥ |anyg 90 950 85,5
33141158 dbnungubin Jhpwpnidwlwl dwlpkwgbind swthup 7,5 9L Janyg S0 800 72
33141158 Jtnungliin Yhpwipnidwlwl dwupkwgbing swihup 8 < |anyg 90 1300  |117
33141159 dbinungubin quudw jwinbipuhg ns unbiphy swithup S < Janyg 23,34 8600 200,724
33141159 Anungbip qUUUWY Jwinlipuhg ns unbiphy swihup M < |anyg 23,34 20000  |466,8
33141159 Qinunglibin quUYwl jwnbipuhg ny uwnbiphy swihup L < Janyg 23,34 16000 |373,44
33161220 Cywwnby thwjnb EUS  [huwn 6 7800 468
31651200 EUS dwwwybu 57*30 EUS  |hwin 399 200 79,8
31651200 |1yq duwywyb 80%30 3 |hun 415 150 [62,25
331140 |$ynipn dwywst 70°30.5 3 Jwnup 2 0
32351230 |nbuingtt dwwwty 30%40 A< |hun 3133 1000|3133
32351230 |nbuingbu dwuwytu 3535 < |hun 460 500 [230
32351230 |nbuingbiu dwwwdbl 18%24 F<_ |hun 84,3 1000|843
32351230 | nbuingh dwuist 24*30 < |hwn 1425  |1000 |1425
24931500 | ptungbt ulwinlitinh bpluwlhs 20;-h hwdwp htnny-funwiynie < |huwn 14640 |10 146,40
24931600 Nhungbu ulwpubiph Yuyniuwgnighy $hpuwd 251-h hwdwp henniy-unwynie YL |hwn 10465 10 104,65
33141173 | Uhquhwywp wuwply 20004 YL |hwn 115 4200 483
33141173 |Upquhwdwp wuwnl 1000 duwtubut 32 lha 35 300 |05
33141173 Ubgh swithhs wiwuwndwul nwpw 1-2; 3L |huwn 20 0
38411200 Qtpdwswith ulnhlyughu < [hwn 1700 100 170
33121180 Sl swipduwil gnpdhp unbtnwuynwny /wntindtinp/ 9L |hun 2970 40 1188
33121180 BUdw swithdwl gnpdhp EibYupnuwhu 9L [hwn 10900 |2 21,8
331180 | supduit swithuiwt gnpshp dwililwlwt $nbbunnulnwng /innundtunp/ < |hwn 5000 3 15
33141138 Yuwitynyw preh preYwsliwhl 200ud/Suswljwl funnnyuly/ EUS  |hun 102 1250  127,5
33691171 <nquuwjh dwypwinhp EUS  |hwn 91,2 250 22,8
38621300 | qpubyninghuljuit hwjtih (“nwyn) swihup M EUS  [huwn 105 200 pal
38621300 Shublninghwlwt huwytih (Ynwuln) swihup' L EUS  [hwwn 105 450 47,25
SN0 |nplwinnp untinbihaniesst gninpony wstuwnnn winlyudh G fhun |9 250 1225
33141100 hunhywwnnp umbnh[hqmrajuu'u'gnp onny wfuwwnnn wywnnlwyh 9L |hun 9 800 7,2
39541150 Nnihwpnuhibiwiht gwg 6*11 ud < |hun 1680 25 42
39541150 Mnjhwpnuhibuwiht gwitg 10*15 ud < |humn 3400 S 30,6
39541150 NnjhupnuhiEliwht nnywspwht guig 15*15 ud UU_ |hwen 8000 3 24
39541150 MnhupnuhibUwht nnywdpwiht gt 30*30 ud UU _ hwin 13000 2 26
33151199 Eunnunpwiubw fjunnnguwl dwudbnny ID 4 EUS  |hwin 420 2 0,84
33151199 Eunnunpwiubiug funnnywy dwudbnny ID 4.5 EUS  |hun 420 2 0,84
33151199 Eunnunpwiubw funnnyuwl dwudbnng ID 5 EUS  |huwn 420 2 0,84
33151199 |runninpupubiug funnnyuwl dwudtinny ID 5.5 EUS  |hwwn 420 2 0,84
3315199 | tunnunpuifubius unnnguiy dwldbwnny ID 6 < |hun 420 2
33151199 Eunnunpwiutiwg funnnywly dwtdtinny ID 6,5 4L |hun 420 50 21
33151200 Bunnunpwiubw funnnywl dwudbnny ID 7 9<_ Jhun 420 100 42
33151200 Bunninpwiubiwg funnnwl dwudtnnd ID 7,5 A< |hwn 420 100 42
33151200 |runnunpusubiuy funnndut Jwldtnnd ID 8 < |huwn 420 100 |42
33151200 |runnunpuubiug funnnywy dwudtnny ID 9 EUS  |hun 420 2 0,84
33141211 PlipwUh onwdnin funnnywy Ne1 GL  |hwin § 0
33141211 Ppwh onwiinin funnnduily Ne 2 < |hwwn 6 0
33141211 Plpwuh onwdnin funnnywl Ne 3 9<_ |hun 6 0
331412m Ppwh onwdnin funnnyuwly Ne 4 . 9L |hun 4 0
3314121 Ppwuh onwdnin funnnygwl Ne s Y€ |hwn 4 0
33141211 RGpwuh onwinin unnndwl Ne s 9< _ |huwn 4 0
3341201 | Mgy opuhitinn S by 235  |a 94
33141211 Mnyu opuhdbitnp Jwulwlwu GL _ |hun 6950 3 20,85
33141160 Unlnghy 250,0 L |hwn 275 360 93
33141219 Hpuwpy dhwiguidjw ognwgnpddwl F<_ |hwn 6 2350 14,1
33191650 fSnpjw fuwjwpe pdolwlwl uinbiph; XXL swithuh EUB  [huwn 450 400 180
39518300 Ywywl dhwlquijw ogunwgnpddwl untinhy Jhpwhwnnuggniiutiph hwdwn < |hwn 100 0
39518300 Uwyuwl dhwliquidjw oguiwgnpdiui 80*200ud, 2004 thwpnyp EUS  |hwin 9000 12 108
3314121 Uduhniind ( Munuiwwinly wuwnntng qnpdhp ) A< [hwn 10 0
S9N [tpuinqulinuyhts Pwlphh puint i dihuity 5 g
71160 |yulynpnn, dbidtinh UG hbwwgnndwl wywpwnh hwiwp < |hun 41 1900 |77,9
33141100 Lbdwinninghwlwl wuwipltp Ypyuwlh 4<_ |hwn 1750 20 35
3314127 | hinuunwinhly uwniug 7utx Sudx Tud 3 EUS |hww  |so00 20 100

Munnh Juininid-Eputhpughwh UhwlJwq oginugnpduwa qnpdhp (kiwi Guid
3314100 |y ot e L 5
33141211 Ukd deinwnwlwt Ynuunpniyghwutp 9 |hunn 162000 |15 2430
33141211 Uhshti dbinwnwiwl Ynuuinpniyghwitp 9L |hwn 132000 |25 3300
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86T ydundp | 11979 |10 11,979
33671125 |udpnopun| opuipul 15q/54; 1004 < [drulnt 749 105 75,495
33671123 |qwinights - Ppntufunihinhi opwipuil 1256 Guwd hwdwndtp 9<  |buulnl Jese31 105 |s7,81255
33691144 Luwinphnuh phnuny$wn 30% 5 ) G |updul |64 1500 |96
33671130 |ahgtuhhnpuwiht - Yhdbnpng 1% 1 ¢ |upduly oy 9900  |215,82
33671132 Mpndbpwght - Mhuyni$bu 24 hwd hwdwpdbp ¢ |updml  q6g 20 3,36
3369112 |Ubunpnuhnwgny 0,5%. 1004, AL ] 3000|606
33691727 |Abpuinpng- Synihnqui 5%-5004; 9¢ e bmageSigieT Javaoe
33691727 |Abpuinpnq - Hynihnqui 5% -5.0 250 4y Sl G S PECY R F 2,399
33691727 Tputnpng - Yyniynqui 10% -5.0 200 u 9<  |updwl 5049 40 20,196
33671135 |uwyghnuth paphn, 1004q/4y 54 ¢ |updwl 35 pomeilly
33691133 | @nip ubpwiplywl huwp 24 q¢  Jupqul  fong 10 0,229
33691134 Ywihnuwh pinphn. 4% 100 4; Q& 560 110 616
33691136 |Lwunphnuth piphn, jnisnyge 0,9% 2004 el 219 9900  |2168,1
33691136 | Luwunphnuth pinphn, jnidnuype 0,9% 5004 9¢ | 12399 15000 35985
33691136 Lwwnphnuh pinphn. inidnype 0,9% 1004; Q¢ [funn 217 9000  [1953
33691129 Lwwnppndh pinphn, GWhnf pnpAn, GW@Rnip pipnn TFUGERR Ronge SUUU Gwa [y

hLudLund’hQ Q< 248,8 1050 261,24
33691136 | Lwunphnulh pinphn. 0.9% 5.0 4y C  jupdul yy 700|168
33691135 [Lwwnphnudh phlwppnliwin 84dq/d, 200] wuwlt upduly g¢  |humn 10368  [1035  |1073,088
33691138 |nhpuinpng - Synilinqui 40% -5.0 dy < [updwly 3795 370 14,0415
33691145 |ywqutighnudh unySuin 25 % 54 ST s G S P 6000 |174,00
33631250 |kpuwtng - Uwhpin pdoluwiljuit- 96% 1) 2h2 q¢  |thup 1149 150 172,35
33631250 |kpuiting - Uwhpun pdoljuluit- 70% 9¢  [lhup 1090 35 38,15
33621710 Uwnkunin; 50 dg &< |n/hun 3,91 2000 (7,82
33621740 Wdinnhwht 5uq S<  |n/hwn [5,95 3000  |17,85
33611100 | oubwpuwgn; 20 dg. S e S ) 9000 [82,80
33621580 | chupnphuwighn - Shnpnpinpnhuwighry n/h 25q Y huuindp 3< In/hun 11004 600 6,024
33621620  |Uwhpnunjwlunint - Uujhpniht 2504 Ywd hwdwpdbp 9<  |n/hun  [25,27 5800  |146,566
33621420 Uwnnpdwutnwnhu 40dq < |n/hwin 50 7000 350
33621370 |rqnunpphnh nhtpwpwn - Ywpnhltn 20 dg Ywd hudwndbp < |n/hunn 165 250  |41,25
33621767 | ngnunpphnh dntinthupwin - Untinunpp 60 g Gud hwiwndtp gpt =i 165 250 41,25
33621640 | £hnpnlinpihgnt puntp 10dg/q 15¢ i 239 5 1,195
33621690 ‘*WPL{bﬂhlnL 12.5 9 n/hwwn 17,8 2400 42,72
33621730 Ybpwwwdh) 80dq < |n/hwn 10,8 200 2,16
33621730 dbpwuwwdhy 240dg dbpwwpbu Ywd hwdwpdbp 9<  |n/hwan  |225 650 146,25
33621730 | dbpwwwdhy 2.5uq/; 20 < |upqul  |3584  [280  |10,0352
33621550 Nwdhwnhi 5dq - Cwpnhy fwd hwdwpdtp < |n/hwun 34 2500 85
33671112 $bunwntipny, hwpwwpnwhnidh ppndhn - Pbpnnnuwy 0.1% 20 dj hud hwdwpdbp 9<  [drwlntt  |z499 60 149,94
33671125 Udppopun| Lwgnywt 30dq fwd hwdwndtpp 9<  [n/huwn |8 360 2,88
33651131 Unupuwidbipopuwan, nphdtipnuiphd - Uny$wwphd ogwpwy 100d; huwd hwiwndtp < |22hy 784 400 31356
33611160 Ubwnnyinwpwdhn /gbpniywy Sdg/u) widy qg  |huna 40 1700 68
33661112 |Mpnuyn$n 204 el 4227 |80 338,16
33621700 Ukwnwpnin) /Utinnwpninih nwpunpwn 254q - Eghiny Ywd hwdwpdbp qg  [hunn 15,21 200 3,042
33621700 U'hmnumn[n[/U'hmnumn[nm tnwnupwwn 50dg - Eghinly Yuwd hwdwpdtp g¢  |humn 19,8 60 1,188
33621700 Ubwnwpnin| /Ubinnwpninh tiwpwnpwn 100dg - Eghinly Guad hwdwpdbp q¢  |hwa 27 60 1,62
33621720 Phunwpnin; /Phunwpninih $nidwpuwn 2,5dq q¢  |hua 11,5 3600 (41,4
33621720 Phunwpnini /Phunypninih $nwdwpwn 5dq - Ynlynp Guid hwdwnpdbp q¢  |huwn 12 2300 27,6
33631170 | Stunpwghlyht wtwpuntp 1% q¢  |hwn 248 50 12,4
33651134 Shwnn$jopuwighth hhnpnpinphn. 0,3% 104] wluwywehiutn q¢  |humn 419 20 8,38
33651134 Shuipn$lopuwght /Shuipn$ropuwghtih hhnpnpinphn 500dg n/h §¢  [hunn 28 600 16,8
33651134 Shuipndlopuwghti /Shuipn$iopuwghth hhnpnpinphn 2dg/d) 2004, q¢  |huma 460 350 161
33691814 <hnnopuhteh| oujw Mjwqun-Stip 6 Ywd hwdwpdbp 9 |huw 3700 15 55,5
33691223 Lwnpnwwphth Ywighnwwlwl wn $pwpuhuwpht 0,34; 9 [hun 903,3 650 587,145
33621120 Fuopuwwjwinh (Fuopuwujwiphl winphnud) Yibpuwt 0,24 gz, fomo 1519 300 455,7
33621120 Fuopuwwwinht (Fuopuwwwpht twinphnid) Ykpuwu 0,44y ¢ [hun 1590 150 238,5
33621140 Yinwhnngpbi 75dg- Mwyhpu Ywd hwdwpdtp q¢  [hun 39,9 1550 61,845
33691143 Luwiopunt 0,4dg/d) 1) wdy 9¢  [upuy 100 0




n
212
213
214
215
216
217
218
219
220
2
222

223
224
225

226
227

20
2
2
23
24
25
26
27
28
29
30
31
32

33
34
35

36
37

38
39
40
41
2
43

44
45

33691176 Uhinbuwhy 504q n/h - Ybquipthh 50uq Ywd hwiwpdbp q¢  |y/huun 543,75 50 27,1875
33611360 funjhywigh$tipng 10d; -dhwnwdhu 13 G¢  [huwn 980 300 294
33651125 |Ughppnihght 500ug 9 [whum  pgy 600 1422
33651139 Uopuh$joputught 400dq 2504 qg | 17779  [210 373,359
33691203 Lnqupunwl (inquipunwl fuihnw) 50dq -Lnphunw 50 Ywd hwdwpdtp G |whuwn 30 2000 60
33691209 Swdunynght 0,4dq L |Wwd 170 30 5,1
33621610 |Uwithunng 100dq/u, 5004 O g 6199  |a 2,4796
33621110 dwpdwphu 2,5 dgq L [v/huwn 9,79 100 0,979
33621774 Snpwubidhn 5dq - Snpwu-bbY 5uq ywd hwdwpdtp G<  [whun 60,9 1050 63,945

MEphunnuphy (wEphunnwphh nkpn-prunhwdpl), Punwwwdhn,
33621764 |wiinnhwht (wiinnhuihtih plighywn)-Yn-Udjbuw Guid huwpdtp ac |V a7 |aseo  |aseast
33621768 Thinhwqbid (nhinpwqbidh hhnpnpinphn) 90dq 9¢  [Wud 39 100 29
33691176 | tnpnunwdpl (nnpnunwdhtih hhnpnpinphn) 250 dq, wuywlt upyuwl < [uptluy 3 0
33611140 Ounuwiutinnpnt (ounwlubinipnuh hpnpnpinphnh nhhhpuwn) 2dg/d;, 20 wdwnyubin Q< [unuly 229 40 9,16
33691179 Ywpptininght 10084g/d; 1d- Nwpw) Yud hwdwpdtip < [upquly 22680 10 226,8
33651252 Ubwuwnpngn 1dg Upbdbn Yuwd hwdwpdtp < |y/hun 83,9 1500 125,85
33611110 Uynwihthnuth hhnpopuhn, dwqutighnuih hhnpopuhny 4004g - Uwwiopu 400dq Yuwd hunfwpdbp < [hun 44,05 30 1,3215
33611110 Uynudhtihnudh hhnpopuhn, dwqutighnuth hhnpopuhn 154 - Uwiwiopu 154 Yuis hudwpdtp G<  [thuptp  [175 20 3,5

. 31682,7156

Lwpnpunpnp wqnuiynipbp (nbwqbtuptibp) b wwpwquibp
33211140 |Phjhnnipht D + T /2x100+2x100+uwn/ < |unuh 9360 20 187,2
33211160 Ypbiwwnhuht /2x100+2x100+uw/ GL  fwnuh 6000 20 120,00
33211250 |CRP npnyuuwili phiup /1x2uy/ 9 fwnup 2328 2 51,216
33211250 CRP npngdwl phup /1x24y/ UU  [wnuh 3000 3 9
33211190 MHawgbun hwlw - A/104y/ < |hwn 516 10 5,16
33211200 Mawqbun hwyw - B/104yY YL |hun 516 10 5,16
33211220 |nwgblin huwlyw -D/104y 9 55 biin 975 12 11,7
33211130 hun|tuptinny/2x1004d}, +uw/ < |wnuh 6000 25 150
33211130 Pwpap funnyejwl funjbupbipht phup HDL /1x50/ X< |unuh 14400 5 72
33211130 Swsdp funnyejwl funibuptipht phiup LDL /1x60+1x20/ YL |wnuh 54000 1 54
33211130 Swép funnysjwl funjbuptipht phup LDL /1x60+1x20/ UU  |wnuhp 45000 i 45
33211240 RF npnpdw phup th{wgw{ﬁm /1x24y/ < |wnuh 6000 25 150
33211120 Suntynqu npngdwl phun hwywpwdny 4x1004, +uw/ < |unuh 3744 30 112,32
33211120 Syniynqu npngdwl phuwn-tphqubip/unphuy/ + 6 hwdwywunwup.qyniyndbnp < |hwn 90 2000 180
33211150 Uhquiynie npngdwll phiuwn hwywpwsdny 4x1004},+2x50 +utn 1x3dy/ < |wnuh 11280 25 282
33211300 Ywighnud npngdwl pliun hwywpwsdnt / 2x1004d},+uwn 1x34y L |unup 4080 15 61,2

Cwlwuwnpbujnnihght- O npnpdwl phup-hwywpwdnt ASO npnodwl phun
33211260 /1x2d1+1x0,20+1x0,24)/ <L [wnuh 6000 25 150
33211110 Utigh ptiuwn 10 ywpwdbup phup YL [wnuh 2200 25 S5
33691162 Lbywinpin HCY npngdwl phuwn hwywpwsnt phun <L [huwn 100,8 2000 201,6
33211320 <twwunhin HBsAg npnpdwili phiun hwiwpwdni phuwn < |hwn 64,8 2000 129,6
33691167 |%hgtipht 5004-ng shy | 1500 1 15
33691167 Uny$nuwihghjwpent 500gpwdwlng wnihkphl.tinypwyu. I |hwun 6000 5 30
33691167 Ugnunwlwl ppent 1 ohp < |hun 5000 3 15
33691142 UtiphtU Yuwnyw - daphiphnuhth pinphn 5004 ohy G<  |hwn 9000 2 18
33211420 ALT npngdwiti phun hwywpuignt /4x1004}+1x1004y/ YL [wnuh 12600 25 315
33211410 |AST npnpduili pliuun huifwpuignt /4x1004+1x1004y/ Gl lwniih 12600 |25 315
33691162 HIV npnguwl pliuwn /Uwhnh npngdwt phiuw/ phup < Jhun 183,6 2000 367,2
33691162 APTT npngdwli phiun hwjwpwdni / 6x44dy < |wnuh 16740 15 2511
33211350 |<npunuubip TSH 96ptup : oz |onik 13080 |15 196,2
33211370 |<npuntitip FT4 96 phup 945 <l 15240 |15 228,6
33691167 Luwgwfuwppnt 1 hnp L |hwn 3000 1 3
33691167 Lhdntwpeequjht bwwnphnd 200 gpuwidwung YL |hwwn 1000 1 1
33691167 KOH thngh utiytinh hwyintwpbipdwt hwdwp 500 gpwdwtng < |hun 5000 1 5
33691167 Unuppyh htipuwtiw (HC)=0,1 dny/funp.nd (0,1 H) $lwynu §< wnuth 20000 1 20
33211290 Ywihnud K 3x50u+uwn. 1x34; < |wnuh 9000 15 135
33211440 |Luwuwnphnud (Na) 2x504 Sl wnin 36000 |6 216
33211430 Uibw wihjuqu 10x204; < |wnuh 35400 11 389,4
33211430 Wdw wihjuqu 10x204; UU  |wnuh 36000 it 36
33211280 Ppnigbyng 1x24; < |onuh 8800 5 44
33211330 PSA uinphuy < |hun 650 30 19,5
33691162 <bhynpwlyintip whinph H.Pylori /hungh npngdw phun/ phup F< |hun 412,8 100 41,28
33211310 fIpndpnuywunhtih npngdwl phun-hwlwpwsny PT/ 10x 104y / < fwnuh 28800 10 288
33691162 Ulwnhy wuwpghn| wpndpujh dwiwbiwlh npnadwl - TT 4x24; < |wnuh 7680 15 115,2
33211460 $hpphtungbiih npngdwt phun-hwywp. Fibrinogen 6x2 < |unuh 26688 15 400,32
33211170 Uhquipnt Uric Acid 2x60u|+un. 1x3u; < |wnuh 3720 6 22,32
33211180 Engjhgtiphnh npnadwt hwywpwsnt TG 4x100+34j un < |uonup 15000 5 75
33211230 Uh$hihuh npngdwt phun hwywpwdnt RPR phup < |hwn 3288 5 16,44
33211270 | Cunhwtnip uujhunwligh npngduwits hudwn Guhswnbuduws hudwpwdng /4x100/ ¢ |wnh 3816 2 7,632
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33691162 “Ennnd wpywl npnodwt phup <L |hwn 297,6 25 7,44
33211470 Spnwnuhu AL |hun 348 250 87
33691162 <hduwyht $nupwinwqu 5x80u+1x1004; YL |wnnuh 12600 3 37,8
33141179 Utunnpnohs phiuwn-tphqubin dbgh dte dbpwibbinwdhtp npnadwl hwdwp YL |hwin 378 200 75,6
33141179 Uputnnpnohy phuwn-tiphqubtip dtigh dby wddbtwdhuh npnoduwl hwdwp < |hwwn 378 200 75,6
33141179 Uhunnpnghs phiutn-tphqubip dbgh dbg YuwitiwphUnhnutph npnodwl hwdwp I [hwwn 378 200 75,6
33141179 Ufunnpnghs phuwn-tphqubip dbgh dtip dbpwnntp npnodwl hwdwp YL Jhuwn 378 200 75,6
33141179 Ulunnpnphs pliun-tiphqubip dtgh dbg othhwntbiph npnodwt hwdwp < |hwwn 378 200 75,6
33141179 [Fdpwlynyetiph wnluynipjwu npnodwl wpwg phutn Ul |hwwn 200 50 10
24321800 Ugnuwhpwd Yud hwdwnpdtp hwlwpwént < |wnup 2750 6 16,5
39831100 Uwppdwu htnnily BioChem SA-h hwdwp 5004; < |hwn 10200 1 10,2
33691141 Pdolulwl ppywsht punt < [hun 3000 150 450
33691159 Ubjywly 10 < Jhun 21000 60 1260
33121240 Uupndwinnjuygbn WH < |hwn 120240 |12 1442,88
39831240 Ukyihu < |hwn 42600 2 85,2
30199330 Suwhsh pnine UU  |hwn 800 15 12
33191310 dwlnunwubipubip K2 EDTA < |hwwn 1150 210 241,5
33141143 Uwph$hlwinnp uyjwundwuk < |hun 10 8000 |80
33791300 Unwplujwlwl wuywlh 2lh$ny < |hwn 7,2 2000 14,4
33791300 - | Mhujbitnlw Uwijh hGdndbtuph hwdwp 0,024, < |hwun 148,8 200 29,76
33791300 “nwtntip /hnwwth huwdwp(mikro) swthup' 10 YL |hun 65 1000 65
38431700 Uhypnwihwbnyu ( Yupnghly) 2-20uy; < |hwn 8290 1 8,29
38431700 Uhpnuhwtinw ( yupnghl) 20-2004l; < [hun 7950 ul 7,95
38431700 Uhypnwhwbnlu ( Ywpenghly) 100-1000dly; < |hwn 7950 1 7,95
33791300 Uhpnwhuwbulwih dwpwljug Yuynywn 10004l < |hun 1,58 30000 [47,4
33791300 Ubhbpnuhwbinluih Swypwlwy nbnht 100-2004l; <L |[hwn 0,61 30000 [18,3
33791300 Uhlpnuhwbunlwih Swipwluy uwhwwl 10-20dly; < Jhun 0,53 30000 |15,9
33141144 Uubn Julninidwpt thnpdwitinph hwdwp 216 < |hwn 13,9 5000 69,5
33141144 Uubin qulninwdwihli thnpéwunph hwdwn phpbnupl 216 < |hun 30 5000 150
33141144 Uubn Juyninidwiht thnpdwinph hwdwp 226 < |hwn 22! 5000 110
33191310 Hwlnindwyht thnpdwunp wwpniuwynn GEL whinhdwinnp 54; 13*1004d < |hun 26,3 15000 |394,5
33191310 Hwynindwiht thnpéwne (NaCit) < |hun 16,6 15000 |249
33191310 Pnpdwlinpllin Yabuwphdhwih hwdwp(Bioxem SA) < |hwn 57,6 1000 57,6
38431700 Gunhlubp (pwphyutp) Ynwgnyngpwddwgh hwdwp < |hwn 43,2 5000 216
33141130 Udwl pdplywljwt wliwihgh hwdwp 604; < |hun 48 4000 192
33191310 Ynwgnyndbitnnph hwdwp wwundwub Ynubunubp < |huwn 106,8 3000 320,4
11697,318

Upuinwhwunn b dwppnn Ujnipbip

Uhinwhwlhs dhgng, tnlndyntibitn futnwyne' twhiwnbuws dwlbipbuubiph L gnpdhpubiph wiinwhwbdwt b
2445141 dwppdwt hwdwp: <bpuwUpnu funwlyne, 1 Ywd hwdwndtip < |hwwn 4000 20 80
24451141 Ufunwhuwhy dheng, Gplynduynubtin funwyne Uwhuwnbujws dwltipbulibiph L qnpdhplbiph

whunwhwbdwt b dwppdwy hwdwp:Unin$wthnu 1) Yud hwdwpdtip < |hwwn 3000 60 180

Rdolwlwl hpbiph puindp Jwlwpnwyh whinwhwbdwy L duitipbwqbinddwl hwdwp htnnwy dhong- Uwnbpntihnu
24451141

Ywd hwdwndtp < |hwwn 5800 6 34,8
24451141 “nluinp b (Uhhungty+) T dwoluyht hwlwubiywnhly, wpwq whuinwhwdwt dhong UU  Jhwwn 3000 10 30
33691823 Snpdwiht - $nnduwinhhnh 37-40% -wling gpwjhls nénye 1eng < |jhun 500 4 2

Uypwdtwpniduljwi wynwbptbp
33131410 Snunwubingt quidhlyutin 0,2 Yntinw Q¢ |wnmuh 1100 20 22
33131410 Fnunwwbinst quidhlutp 0,4 Ynunw Q¢ |unuh 1440 20 28,8
33131410 Snunwubinst quishlubp 0,6 Ynunw Q¢ [wnuh 1038 10 10,38
33131410 Lbipddnn penpt qudhlubp < |umip 1038 40 41,52
33131410 Uywlbpbiught qudhlubn (2nh$wn) AL fumih 2300 5 11,5
33411420 UnLILULnUJ[ghz Q¢ [wnuh 1500 15 22,5
33411390 Pnnshly qunwali(gshp) unipphuwiht Swypwlwih hwdwn BR 41 Q¢ [hwn 218 50 10,9
33411390 Pnnshy qunwal(qshn) wnnipphlwjht dwipwlwih hwdwn BR 45 q¢  |hun 218 50 10,9
33411390 Pnnshy qunwal(qshn) wnipphtwiht Swypwlwih hwdwp BR 46 Q¢ |hun 218 40 8,72
33411390 Pnnshy qunwal(qshn) wnipphUwght Swpwlwih hwdwp BR 49 Q¢ |hun 218 40 8,72
33411390 Pnnshy twbidwal(gshnp) wnipphUwht Swjpwlwih hwdwp q<  |hun 218 50 10,9
33411390 Pnpshy nwlidwal(gshp) FO 32 F Q< [hun 218 30 6,54
33411390 |Pnnshy $hunipuwihti(gshp upwsuyn) < |hun 218 50 10,9
33411390 Pnpshly ojhywdili(qshp) G<  |hun 218 30 6,54
33411390 Pnpshy hwlwnwna Untwdélu(gshn) 3¢  |hun 218 30 6,54
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33411390

Pnnghl qunwal(gshn) dbfuuthulwt

q¢  |hun 350 10 35
33131110 Unwidtwpnidwlul ppwddhsutin Q< [wnuh 1062 30 31,86
33131200 Unwiduwpnidwlul tpuywdunnp < |hun 700 10 7
33141193 Uulbin dbnwnwlwu pinhbin QL |wnup 900 8 72
33131410 Snipphliwjht - dwypwljuy nyuny A< |hwn 24500 6 147
33131410 Ubluwuhwlwl  dhypnauindhs < |hwn 12000 2 24
33131320 Lnwwjht windpwtyniph wnihdbphqughwih wyy L [hwn 14000 2 28
33131160 |<nlhg (rnanwnxa) tinpn qfuhlutipny 9< _ |huwn 650 20 13
33131230 Unwduwpnidwlwl hwjbihutph thnnbip < |hwwn 900 10 9
33141118 Sngung AL fhun 18 2000 |36
33131220 Uinwduwpnidwlwu nitih Q< |hwn 900 12 10,8
33131290 Unwduwpnidwlwt tpinwn dbhwtgudu oguwgnnddwl (Sl i 30 110 33
33411450 Lbdnunwinhly 304; 9eIhum 1500 2 3
33141194 Jwdwuwlwynp windpwiynipe Yauwnhu dwdniy Ywd hwdwndtip < |hwn 850 10 8,5
33141194 Ywdniy wugquijugnn Hadhin Gud hwdwpdtp < fhun 1200 3 36
33141194 Pnudhs nwlnhn (nwwghu Ywpdpwgdwl, Yuighnwh hhnpopuhn wuwpntuiwynn < |hun 2400 1 2,4
33411410 Updwinwfunnniuih windpulnge Eunndbpwgnt (nuljwqd Gud hwdwndbp- sUGnSdYnn,
1 nblngbt Yntnnwun q< 17000 |° 153
33411410 Updwnwhunnnjwlh wndpwljnye hwlwpwdnt thngh + pnwdhy hennil+ htinniy 5
Ywpdpuwgdw hwduwp 9 2200 6,6
S AaED Uwwythnundbnwhu nihybpuw| nbungBUnGnnnwan Unip —wywlthnundGpuht 2
Ll gbdbun 9<  |pwyweu 4500 315
33411140 Lnwwyhl yuipdpwguwl Ynduinghinwjht windpuwtynige < |ipwywqu  |49500 |8 39
33411140 Lnwwjht Yupdpwgdwu Yndwnghnwjht npniu wndpwnye < |pwywaqu  |8000 15 120
3314194 [ Phdhwluit huindpuigduwli Yndujnghinuhts windpuitynie < |pwywas  [10000 |3 30
33621641 Uwnwdutph hu$blygqwsd U ndqun hwuwttih funnndwlubnh whmhubunhy dowldwu 5
htnnuy 54 - Ypbignnbun Yud hwdwnpdtip < |hwn 1200 2,4
33411560 Nnyyjkputnpwlnnp - Yuynwuwhwt < |wnup 4000 10 40
33411400 Updwiwhuinnnyulubpp dawlbint Swyitip H puytip L |wnup 800 10 8
33411430 Undwunwhuinnndwlutinp dwytint buwyiap K duwyip < |onup 800 20 16
33411430 Updwuinwtunnnyulutinp dawytine Sun K Swyitip A< |wnup 800 20 16
33411400 Updwinwhunnnywlutinp dowln $uyiip H $wybp N 0,8 < |wnup 1050 5 5,25
33411400 Updwuiwtunnnyulutipp dawtyne Suyiip H Swyip N 10 A< |wnup 1050 5 5,25
3341430 | Undwinwhunnnyuiluting dpuwisine Suibn K Suyin N 0,6 < funup 1050 15 15,75
33411430 Updwawhunnnywyltinp dpwim $uitn K wytp N 0,8 < |wnup 1050 12 12,6
33411430 Undwwnwhuinnnulubinp dwltnt $uyitin K $uyiap N 10 Q< |wnuh 1050 12 12,6
33131320 Unwduwpnidwlw uby (thwyinb) hwlwpuwidne Q< |hwgueg. 2000 7F 14
33131320 Ubnwnwlwt utijghnu dwinphgutinh hwywpwsdnt G |hwdwe. 3500 3 10,5
18931180 Snpdhpubiph whinwhwdwy thuwpbpubp A< |wnup 3800 15 57
33141193 Unwuhynywghnl pninp (konuposansHas 6ymara) 9L |wnuh 2700 5 13,5
33141194 EDTA gbj-inipphlywlin wpdwinwifunnnywyh hwdwp 104 A< |hun 3500 6 21
33131170 huwpuing wjwuwnhy unynpulwt (2niphthu) < |wnup 1500 15 22,5
33131170 Fuwpung dnwnwyw (puiphiu) < |wnup 1600 8 12,8
33141193 Uwwnphgwpnthy . < |hun 1200 5 6
UtGnwihs wwunwnwljnge $onp wwpniuwlnn 20gp-ng hntinup( Gad bunipnup Gud
33141194 hwdwnpdtip AL |hwwn 2 0
33141115 Pwdpwlt quuitwl ninuhnd 500 hwin A< |wnup 300 12 36
33121320 | Swindwiljui X-Ray 3<  hun 350000 |1 350
33131410 |Eunngwindhsh $uiiin < |wnup 11500 |60 690
33121320 Unndwuninghwluu nhwptpdnynwgnywnnp Q¢ hwin 15000 1 15
33131110 uytin inyuny Gz I 60000 1 60
33131360 Yny winwdh wuwlp hbnwgutng hwdwp 92, Jhim 10000 1 10
33131410 Ukluwuhjulwu dhynngwndhsh ninhn duwpuwijuy - 15000 1 15
33131410 Ubuwuhuywt dhynnpwndhsh wulnituiwght dwpwljw az |k 19000 2 38
33141193 Luntiph ntwnpwyghwh phy wunpwubndhsny 2-pn, hwdwp U 4500 2 9
33141193 Mhtiqgn nhdbp 2-pn hwdwp S<  |hun 1000 10 10
33141193 Mhtiqqn nhdtip 3-pn, hwidwn e lhum 1000 10 10
33141193 Mwppnwd 6x6 swihuh Yutiwg o = | g 5000 8 20
33141193 Snnyh dwupwhwnhlywynp thngh' pnywwnntih tptituwtbph hwdwp & uniig 9000 1 9
33141193 <bdnunwinhl uyniug Ynjwgbtwhu wnwlg wuwnhphninhlyh ¢ |uinap 3000 3 9
33141193 Uwihlwghnl whiqquijwgdwy gty plUgnyuijhuh hhupny 8¢ {wniip 2000 2 16
33621641 wlwubyinhy htdnunwinhly dwdniy wiynghy 9z | 6000 3 18
Lwdwluipgswjht nblthw
30211220 | wiwlwipgswihty huwpuwdnt < |hwn 142500 |5 7125
30239170 | Puiqiw$niulghnwy tnyhg uwpp Canon MF3010 Yuwd hwdwndtip Sz htin 89500 2 179
Spwublywluhl wwpwliptty
30199330 EO® inwhg uwipph phumn Ul |hwwn 27000 1 27
Yuwnbkihp
09132200 piUght nbgnywp 9 thwp 480 8000 3840
09134200 nhqbjwiht yunbihp wdwnught < {hup 520 3000 1560
5400
0
ummnu & Jnipjniubp
66511170 FORD 288 LS 59 Q< npwy 21000 1 21
66511170 VAZ 373 LL 10 < npwyJ 27000 1 27
66511170 GAZ 027 AL 61 9 npwJ 21000 1 21
66511170 VAZ 209 LS 59 < npwyd 27000 1 27
66511170 VAZ 026 AL 61 = < npwy 34000 1 34
66511170 UAZ 212 AF 61 q< npwy 21000 a5 21
66511170 TOYOTA 503 AX 61 9 npwy 42000 1 42
66511170 UAZ 970 AU 61 Q< npwy 21000 i1 21
66511170 HYUNDAI 999 QQ 59 9< npwyJ 26000 1 26
66511170  |JIN BEI 785 AO 61 q< npwy 21000 |1 21




Dwnwjnipjniiubp

73111200 3JnLujwdpwpwlwlwl htnwgnunipnlu Q< npwd 1000000 |1 1000
64210000 hGnwhinuwwyy, hunbnUbunwhl Yuw uu npwd 116100 |1 116,1
6510000 fudtinL oph , opwdwunwlwpwnpdwl b 9gpwhbnwgdwl swnwjnipinlu uu npwd 546300 |1 546,3
9050000 Unpwhwlntejwl Swnwjnipinlu uu npwyd 50000 1 50

6520000 quqwdwunwwpwpnud Uu npwd 2168200 |1 2168,2
6530000 ElGywnpntubpghw Uu npwJ 2757800 |1 2757,8
72261160 armed.am hwdwlwngh uywuwpydwl swnwjnieiniilibn uu npwd 656800 |1 656,8




